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2) Solve for x.
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Writing Linear Equationsin Slope-Intercept Form

SLOPE-INTERCEPTFORM: y — mX _I_ b
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Write the equation of
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Werite the equation of a line given the slope and v-interce,

the line with the given slope and y-intercept.
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Write the equation of a line in slope intercept form given a graph.
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Write the equation of a line in slope intercept form given a table.
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Graph a linear equation given an equation

Graph the y-intercept first. Then apply the slope: Rise/run
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How do you graph linear equations using the slope-intercept form of the equation?

y=mx+b

. m'S\)Pe l’l}

Example:

(1) -2x+ 3y =-6
4 ZX
L
E
Steps: fﬁ: 2

I. Solve the equation fory. (2) y-intercept is — 2

2. Identify the y-intercept. (3) slope s %

3. Graph the y-intercept.

4. Identify the slope.

5. Use slope to plot more /‘]_
points (rise/run). f
6. Draw line through the ) /(/ -
points. |/
U
You ftry. A
o
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(2) y-interceptis S
(3) slopeis é \J
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Slope-Intercept Form Name
Date Block:
Identify a) the slope, b) the y-intercept and c) graph the equation.
1 2
1) y:Ex—6 2) y=4x+3 3) y:—gx+2
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Rewrite the equation into slope-intercept form, name the slope and y-intercept, then sketch

the graph of the line.
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5)-2x + 6y =-12
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slope-intercept form:
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slope-intercept form:
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